MIND MAP : LEARNING MADE SIMPLE

The method in which we change the variable to some
other variable is called the method of substitution
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It is the inverse of differentiation. Let,

Properties of indefinite integrals are
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constant of integral. These integrals are called indefinite or general integrals.
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a being the lower limit and b be the upper limit.

Let f be a continuous function of x defined on [a,b] and let F be another function such that
:—XF(X)z f(x)Vx e domain of f, thelﬁf(x)dx =[F(x)+ c]z =F(b)-F(a).This is called the

definite integral of f over the range [4,b], where a and b are called the limits of integration,
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